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Introduce insects that can eliminate others insects which will prevent
the use of pesticides.
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Thanks to mechanization, the volume of work has decreased.
The use of chemicals (pesticides) in agriculture makes it
possible to artificialise crops.



For the case of Europe there is the CAP which appeared in 1962
whose aims were to ensure food self-sufficiency in Europe and
also an improvement in the incomes of farmers

Financial aid (grants) have been granted but with the obligation to
use:

-chemical fertilizers

-pesticides

This resulted in increased productivity

and their income.
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On this graph we observe that the incomes
are equivalent, the production rate
compared to incomes is higher than for

_§__ organic farms




